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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  When you ---------- a meeting, it is important to speak clearly, confidently and at a good
pace.
1) assess 2) propagate 3) address 4) impress

2-  People like the newly proposed system, but because of the costs involved we do not
believe it is ---------- , and we need to look for other options.
1) compliant 2) defensive 3) ingenuous 4) viable

3-  The country in question is very poor, and one in seven children dies in ---------- .
1) infancy 2) nutrition 3) malfunction 4) mortality

4- I don’t consider myself to be particularly ---------- , but when I’m given a job, I make
sure it gets done.
1) industrious 2) spontaneous 3) risky 4) unexceptional

S5-  The new airliner is more environmentally-friendly than other aircraft, its only ----------
being its limited flying range.

1) demand 2) drawback 3) controversy 4) attribute

6- The celebrity will ---------- assistance from the police to keep stalkers away from his
property.
1) extend 2) invoke 3) absolve 4) withdraw

7-  When plates in the Earth’s crust slide or grind against one another, an earthquake with
devastating consequences may be ---------- .
1) derived 2) surpassed 3) triggered 4) traced

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The new species was named Maiacetus inuus, which means “mother whale,”
(8) —--=-mm-- in the family Protocetidae. Assignment to a new species was justified due
to critical differences from other protocetid whales, such as solidly co-ossified left and
right dentaries (lower jaws), (9) ---------- in the ankle, and significant disparity in hind
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limb elements. The fossils show (10) ---------- this new species’ length is unimpressive
relative to some extant (living) whales, but still, Maiacetus inuus measures a
respectable 2.6 meters.

8- 1)placed 2) that placed 3) was placed 4) and was placed
9- 1) there were variations 2) varying

3) variations 4) which varied
10- 1) when 2) that 3) although 4) for

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

It is imperative that the computer scientist have a clear understanding of how a
computer functions. Such understanding is also important to the high-level language
programmer—if not for the sheer knowledge, then to help him or her design programs
that use the computer more effectively. To have a clear understanding of conventional
computers and how they work, one should have good knowledge of machine language
or, equivalently, assembly language. After all, a computer executes a machine
language program to perform a certain task.

There are certain functions on many computer systems that are still in the domain
of assembly language—for example, the operation of physical input and output
devices, and the transfer of control of the computer from one job to another in a
multiprogramming system. Although there are attempts to use higher-level languages
for such functions, assembly language still prevails in these instances.

In principle, an assembly language program is more efficient than its higher-level
language counterpart. This is so because compilers, in general, tend to generate less
optimal code than the code of a carefully handwritten assembly language program.
Therefore, in applications in which saving memory storage and execution time is of
primary importance, assembly language may be advantageous.

The foregoing reasons should not be interpreted as a plea for writing all programs
in assembly language. They mean only that assembly language can be used to add to
the capabilities of higher-level languages. Since most higher-level languages allow the
user to a write subroutines in assembly language, a programmer can, through judicious
choices, combine the advantages of both higher-level and assembly languages. For
instance, the programmer can write those parts of a program that ate machine-
dependent or that execute very frequently as subroutines in assembly language, and the
rest of the program in a higher-level language.
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11-

12-

13-

14-

A high-level language programmer ----------

1) is fooled by knowing the machine language

2) writes programs using the assembly language

3) cannot benefit from knowledge of assembly language

4) can write more effective program if he/she is familiar with the assembly language

Assembly language is ---------- a high-level language to certain computer control operations.
1) used more extensively than 2) used less often than

3) used as much as 4) less effective than

What does the underlined word “prevails” in the second paragraph mean?

1) abuses 2) predominates 3) glorifies 4) propagates
Compilers ---------- :

1) generate efficient computer codes

2) generate codes of primary importance

3) tend to generate computer codes using optimal memory storage

4) may not produce computer codes being advantageous to an assembly language
program.

Some higher-level languages ---------- A

1) are preferred for use in controlling computer operations

2) have been developed to remove the need for writing programs in assembly language

3) appropriate for the use of assembly language programs to be more advantageous

4) are used to generate more efficient programs than assembly language programs

PASSAGE 2:

Some people have suggested the word “sequencing” as an appropriate name for an
ordering process; but this word often seems to lack the right connotation, especially
when equal elements are present, and it occasionally conflicts with other terminology.
It is quite true that “sorting™ is itself an overused word (“He was sort of out of sorts
after sorting that sort of data.”), but it has become firmly established in computing
parlance. Therefore, we shall use the word “sorting” chiefly in the strict sense of
“sorting into order,” without further apologies.

Some of the most important applications of sorting are

a) Solving the "togetherness" problem, in which all items with the same identification are
brought together. Suppose that we have 10,000 items in random order, many of which have
equal values; and suppose that we want to rearrange this file so that all items with equal-
values appear in consecutive positions. This is essentially the problem of "sorting" in the older
sense of the word; and it can be solved easily by sorting the file in the new sense of the word,
so that the values are in ascending order,v; < v, <...< Vg g9 - (The efficiency which is

possible in this procedure explains why the original meaning of “sorting” has changed.)

b) If two or more files have been sorted into the same order, it is possible to find all
of the matching entries in one sequential pass through them, without backing up. This
is the principle which Perry Mason used to help solve a murder case (see the quotation
at the beginning of this chapter). It is usually much more economical to access a list of
information in sequence from beginning to end, instead of skipping around at random
in the list, unless the list is small enough to be stored in a high-speed random-access
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memory. Sorting makes it possible to use sequential accessing on large files, as a
feasible substitute for direct addressing.

¢) Sorting also is an aid to searching, as we shall see in Chapter 6, and therefore it
helps to make computer output more suitable for human consumption. In fact, a listing
that has been sorted into alphabetic order often looks quite authoritative even when the
associated numerical information has been incorrectly computed.

16- Sorting -----—----- b
1) has the some connotation as sequencing
2) is less meaningful than sequencing in ordering
3) is widely used in computing terminology for its various meanings in the literature
4) is an accepted terminology in computing despite its being an overused word
17- What does the underlined word “consecutive” in part (a) mean?

1) successive 2) consequence 3) ordered 4) propagated
18- If a number of files are sorted into the same order, then by performing a single sequential
search through the files ---------- %

1) matching entries may be lost

2) matching entries can be detected

3) matching entries are replaced

4) some matching entries may be skipped if situated in a large list
19- According to the passage, choose the correct statement.

1) Togetherness is best characterized by sequencing.

2) Togetherness and searching are easily accommodated by sorted lists.

3) For large files, direct addressing is more economical than sequential accessing of the

sorted file.

4) Searching is performed more effectively in a list with randomly clistributed entries.
20- What does the underlined word “chiefly” in the first paragraph mean?

1) preferably 2) advantageously  3) mainly 4) primarily

PASSAGE 3:

Chapter 4 deals with dynamic data structures, i.e., with data that change their structure
during the execution of the program. It is shown that the recursive data structures are an
important subclass of the dynamic structures commonly used. Although a recursive
definition is both natural and possible in these cases, it is usually not used in practice.
Instead, the mechanism used in its implementation is made evident to the programmer by
forcing him to use explicit reference or pointer variables. This book follows this technique
and reflects the present state of the art: Chapter 4 is devoted to programming with pointers,
to lists, trees and to examples involving even more complicated meshes of data. It presents
what is often (and somewhat inappropriately) called list processing. A fair amount of space
is devoted to tree organizations, and in particular to search trees. The chapter ends with a
presentation of scatter tables, also called “hash” codes, which are of tern preferred to search
trees. This provides the possibility of comparing two fundamentally different techniques for
a frequently encountered application.

Programming is a constructive activity. How can a constructive, inventive activity
be taught? One method is to crystallize elementary composition principles out many
cases and exhibit them in a systematic manner. But programming is a field of vast
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variety often involving complex intellectual activities. The belief that it could ever be
condensed into a sort of pure recipe teaching is mistaken. What remains in our arsenal
of teaching methods is the careful selection and presentation of master examples.
Naturally, we should not believe that every person is capable of gaining equally much
from the study of examples. It is the characteristic of this approach that much is left to
the student, to his diligence and intuition. This is particularly true of the relatively
involved and long example programs. Their inclusion in this book is not accidental.
Longer programs are the prevalent case in practice, and they are much more suitable
for exhibiting that elusive but essential ingredient called style and orderly structure.

They are also meant to serve as exercises in the art of program reading, which too
often is neglected in favor of program writing. This is a primary motivation behind the
inclusion of larger programs as examples in their entirety. The reader is led through a
gradual development of the program; he is given various snapshots in the evolution of
a program, whereby this development becomes manifest as a stepwise refinement of
the details. I consider it essential that programs are shown in final form with sufficient
attention to details, for in programming, the devil hides in the details. Although the
mere presentation of an algorithm’s principle and its mathematical analysis may be
stimulating and challenging to the academic mind, it seems dishonest to the
engineering practitioner. I have therefore strictly adhered to the rule of presenting the
final programs in a language in which they can actually be run on a computer.

21- A recursive data structure ---------- .
1) is an examples of hash code
2) is not commonly perceived as a dynamic data structure
3) may not promote a recursive definition in practice
4) is so that the structure changes during the execution of the program
22- What does the underlined word “encountered” in the first paragraph mean?
1) challenging 2) admissible
3) faced 4) approved
23- According to the passage, programming ---------- ’
1) does not involve much intellectual activity
2) 1s a complicated task and cannot be learned completely
3) may not be conceived as a subject easily taught in a class
4) is a constructive task and can be taught systematically in a class
24- What does the underlined word “condensed” in the second paragraph mean?
1) compressed 2) influenced
3) scattered 4) clustered
25- According to the passage, stepwise refinement ---------- .
1) is a key element for evolution of a program
2) is not commonly accepted by practitioners
3) slows down programming in general
4) is not popular among engineers

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

V axio 760F (18 05) i gupolS pole

LT (Flvo o 8l j U] Jleo o o5y g Loyt pilo (oo o 26U ) pole oo «(Fg)) ropac Sb,) b w9 y0

(Jloir] Floo 9 (s0us
Y v

fewml plas cA =) o V| gwylogygyly -Y#
Y =\ f

%(AY —sA+VI) (

%(AY “YA+¥I) (¥

A"+ 5A VI (¥

%(—AY+9A—\°I) f

foamw! plas (oS 0 Guowe |Z = Vi [=|Z =V Yi| olwi jo a5 Llio dxbo jI bliacgomoe -TV

{X—i|xeR} O

{x+i|xe]R} (v

{-\+iy|yeR} ¢

{\+iy|yeR} (f

X tant
J' (sint)™®"" dt
Sl plos . lim =2 Jol> —YA
x—)o+ Xex

o ()

V(Y

e (¥

o0 (f

- n

fcuml Canyd fag ) WLES ol 8590 plaS 2y = O S P8 A b sue gl —TA

ool Sod A€ R ai> polie aen lp ()
sl ot A€(—e, ] sl Lasd (¥
Lol Son A#E—€ b polie gl (F
ol Sl A € R polie den sl 4 (F
atl, I, =Ia(av—xr)ndx el Al (A D> 0 ddis Jfado g N b duc b gl ass 8 Y

fowl plos Iy 9 I o (iS5

Y Y
a n an
I = ..« I = | G
" vpy M " pgy ™
Y A
Ya'n Ya
[ = I (f I = I,
" vpny ™ "opgy ™

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Sl oS F(F) oo wiS gowo FT(x) = IXF(t) eVt dt x2 0 Wolee 3945 il Coli pué 2l G F 51 1)
e—\ ()
e+ (Y
e —) (¥
e +) (f

X—) +)
SuiS o e Jgb oS b 1, W X jgo o(Y 51, 1) w,z=7=y— olro & bb y 00y Ao VY

A
41

Y

(f

—“ |-t t|-6 6|t —t|—=

X
feawl plas cJo, X4] 830 ;0 y=acosh(—),a>0 aoleo &y Soxio wed Jgb -YY
a
\ . X
—sinh(=Y) (\
a a
. X
sinh(—) (v
a
. X
asinh(=Y) (v
a
. X
a'sinh(—) (f
a
ixiio g X 4y 42" = Y2 S i Juad oo C a5 @F.di‘,lm F=xi+vzj—sxk oos o8 -VFf
C
Sl 'o‘.\f u.\.mb‘so Z=—-X+)
T

\/;

-7 (¥
YT (¥
-y (%

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

q axio 760F (18 05) i gupolS pole

x> S 0 3] A glad g Wlaisee Tuse 3500 4 (Glo S (39,0 0 1Y yeoo Slusel y3 A> 0 Jhad 4y sloyi> YO
fawl plas’ 510 ya 5,5

Jr

~ma’
f
”

~ ma"
f

Y
~—ma’ ¥
Yl

gnav (f

(o2 325 (o0 Coo Slast &g oo [H M) Sanl 2 X > R (5 0 @l Gy (o &g iy 5 plos -FF
YM3Ix(xe X A |f(x) >M) (\
VxAM(x e X = |f(x)|>M) (v
AMVx(x € X =|f(x)|>M) v
IXVM(x e X A |f(x)| >M) (f

il pS i aEb & a' =b' (mod?) & ygods Lig ={o,\,Y,...,A} S LE &i)lee akaly YV
Tl S j0 plaS 350,135 g0
LIV IVLPLIAR o5t coisle E (65 51en sloos  plos asgazme (il
DIV [V [F] o5t conisbe B 55lpn sloos, plos ac gao (o
«o» lagd (Y «alh lags ()
«o» &« @ (F 90 o (¥
(! ol (Gre 4y SCS) Toaw] o yob aiy 55 plas’ YA
A (6 > Sl g b s slacel sl dly ) ()
ol S5 2% ST 0<a 4 anslb SEb ga I (Y
Al S goae ol (Ko S goue lgias beS sue SO (Y
el b 0B Sl L )] 0 a5 e K5 goae LN P ol SO 51 555 b sae SO ST (F
fcasl 1Sl TT X Aegomo il (45U sac gosmo 51 iU slodlgils { X}, | s (2,3 -1

iel

{f:UXi —>I,Eli(iel/\f(Xi)eI)} ()

iel

iel

{f:l—)UXi,EIi(ieI/\f(i)EXi) 4\

{f;I—>UXi ,Vi(ieI:f(i)eXi)} (¥
iel

{(Xy, Xy, X)X €X O Sk <H) i€l (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

)+ o 760F (14 05) i gupolS pole

o0
(ol R Lol oue Gulei X g N Lol oue gialoi N, ) Sl plas ply A= U N" dcgomo Lol oue

n=\

N, ()

N (Y

ol 55 NI

Zal 5S5eS W 5l g 385 N (F

Yay —Yay, Yay —Yay, Yap —Yayy Ay Ay Ay

fewl plas’ det Apy Apy Apy Jodo.det] ayy  apy Ay | =1V 0S5 29
Ay Ay Ayy dpy ey Byy

-Yf O\

—\Y (¥

VY (Y

YE (f

gl iy o T oo (g Flo sl o iy ya3 T(X, ¥) = (X,50) abula b R g5, T Jbas Shoe
tcanl plas B={(1,1),(¥,1)}

-\ Y
(O
VY]
(Y
L Y
-y =Y
vy
-\ Y]
(f
—Y ¥]
a,beR ol oas T(z)=az+bz 2zeC p» 4lp a5 5 9bas canl b5 fos -R S T:CHC
Sl oIS T liwo 3o Ja| = [b| 51 00 ol 4o
Jao ()

a—b (v
a+b (¢

a' +b' (¢

famsl oS VAW oy olST il # ams bV (550030 Ltd 51 F asms b olacio sl o5 90 W g U s’ (9
YL ()

YLY (Y

TLY

YLYL(F

Telegram: @uni_k

_fq

-

-fY

~FY

-f¥


https://t.me/uni_k

www.konkur.in

1 amiio 760F (14 05) i gupolS pole

5 01,,0) 6Lyl s A oy sfake S F S1.abl VY sl io b R (g9) XY g yilo 4 A asS (5,9 —FO
i |
Sl 1S (AT s o 51 i) tr(AT) 51 olT il F o9 ylodio d diamaly 0309 51 93 (V) ,;)

-7 ()
—\8 (¥
VF(F
Y7 (F

)
?wlw,a@;ﬁb&xn“:x;—xn MmeN ;» ljlago<]x, ISW R e 4

lim x, =o ()

n—>aoo
liminf x, = /¥ , limsupx, =+/¥ (v
Jiminfx, =—/Y 4 limsupx, =o (¥

diminf x,, =0 4 limsupx, =Jv ¢
A=supE g E={xel:f(x)<o} f(a)<o<f(b) wilawwgs f:I>R Jd=[a,b] uis 5,5 -FV
F ] Gy 4 35 plas
f(A)=0
f(A)<o (¥
f(A)>o (v
A<f(A) (f
il Gy 435 oS 1= (8, 5) (5,9 b bl Adwvgy 3 S 42 Ky F1(2,D) SR 0is 5,8 —FA
el S o5 £(T) (¥ ol aes oL £(1) O
s 031y o Leg3d £(I) (¥ el 3k ot £(1) ¢
X abaidi o f 2l g0 Gidieo XE(—0,a) o oI5l & a5 Witl diwgwy AU FI RO R gaeR wos o9 -FA4
9 Cowl 39290 X alaili yo F &b pg0 i X € (a,0) y» (oI5l &y pizmod '(X) <o <f"(X) g cowl 39290
§ ] o y8 4 35 plas . f7(x) <o < f'(x)
.wlpbgo?yam&)of@ljés_&m(\
ol 85950 by cpl g Cunl 39300 T1(@) oK el Jail,S @ Bodoms Solued S jof" a5 5 ,50,0 (Y
.wlpbﬁlﬁjoﬁyam&)of@l:é;&m(\”
s i @ abais o f 5 (F
Sla—ic .M = m[ax‘]f(x)>\ a5 5 ya—bods il Aiiguy 1l 20, )] > [o,®) a5 o3 -0
Xe|o,
Sl plas .« lim i) \f"(t) dt
n—>ooNJdo
o 0
oo (Y
M ¢

j:f(t) dt (¢

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

1Y axio 760F (148 05) 55 gupolS pole

) )
adolro ddiy 4 X, polio plus ofjla e"=“—X aoleo d y Aol gy Xn'H:y_Xn G55 iy O
[
?c‘z.w“)fw.b
X, <Iny O

\
X, >In— (¥

Y

=i
X, >¢ (¥

\
X, <In— (f
Y

s plas 0 ol Cdio dmod Slue! (yl g WU B g A I oldco i ccui ja b ga uss o8 -OY
(!l X oo L5 B(X) ) Sl S(ab) = b(a)+3(b)

A B
—+—=\(\
a

A B
———=)
a b
A B
— ==
a b
A B
———=\(f
b a

feul plas 1y (x) ‘lo(x)=—%(x—\") g ol Xy 9 X, bl b Bluo 31,5Y b oz cuija ly g1, 51 -4Y
\
1,(x) =¥(X+\) ()
\
(%) :;(X—\”) 4

L(x)= —%(x +1) (f

0,5 pasialy Iy oles s Xy g X, ils g0 (F
ol 38 a5 ail (1,£(1) 9 (€,£(8)) «(0,F(0)) 501 aw pgo 42,0 Ll y3y8 Glabezwiz q(X58) WS (2,5 -OF

Sl plas (q'(1) oST q(x) = lim q(x;€) 51> 0
g0

£0) = ¥E(e) = ¥f'(e) (1
HOBHO RSO
YE() = £(e) = vE'(e) v
YE() = YE(e) =) (f
2 sl oo ol 1y X, =Y 51 by N0 (gl (o5 (dy) gl gy 3 o3lisil b bl o —00
Sl 1A Xy olST oy Hlii
—0/0Y\YA ()
0,0 Y\YD (¥
\AAYED (¥
Y ov\va (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

W amio 760F (I8 05) i gupolS pole

9y slodio WA 1B 98 I il i pgu 3 Jgl Loyl g Ailso ko Loools 3l dcgermo SO ululy ST 07
el plos’ (Sl (Ngz
—o/F ()
=00 (¥
o0 (¥
o/f (f
Soold (109381 5y g s LIS (1Kileo 31 Bl il 098 (la(ylei & oo 9290 8018 1D & W ol O (3938l L -AY
Flml S 33 00l 009381 iz 3010 & b bLI I 10 3550 plaS .l 00 ST (6 purdi W0
RUW V- CIVRC S T KA L ¢ N ¢
ol 35250 8315 VO 5. Sbs pau S Qyax 8010 O S5k (Y
Ailodgs 09250 8310 VO . Sle bl B sy 0lo O den (Y
55 ismd el (F
Jiniol 3 o Soluci sy S Sy A, B, €, D o F 31 S 0 &y cilizke slouon b QLS & ot 31 ~0A
ol IS bl oud 0010 (LGS < jor QLS (32 755 o2 9 (32 315" o0 4SS

I
~ ~~ N
= = =

S|l |te|—x?
~~
4

odsboualin (glrdzg o jlosh oy Lo 4SSl Jloiol 09 o0 DUy (230t 9 o 3 Jwno g0 plw (29 Sy S -04
Flamwl plas” (bl ¥ ool sudline (gldvds g 0 ylosds proudono il aSCol byl 4y 0l ¥

d, C, b,a @T L}O}Jb.w‘ O/i JJ‘)J ub)’ 6)‘)3)4 u)w)¢MPu¢;)UJw|JJ)W)¢ —Fe
Flaw! 1o ot (30 355,15 Jlosa! caisS” Joe S

" S NAAY ()
o VYAV (Y
a d o AVVA (¥
= ()" (f

b

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

V¥ axio 760F (1Y+8 05) i gusols’ pole
rdwleo dy Jlif leo 9 s 6K /b o0l ylois L
Pl (gl g0 a2y 3l g0 oS dd o295 -7

k=o

for(i=n,i>0,i—-)
for(j=1,j>0,j—-)
{(k=k+ix*j}
print (k)

i=)

ji=)

while (i <n){
i=i*xy
j=iry
}

print(j)

{T(n‘“)=T«n—s)‘“)+e(n)

T(O) =)

(X 51 40 S oS doly SO S X——)

n' (v n' o

n' (¢ n"/®

a(n") O

( \t+logy n ) v
O\n 7 (f O(nY¥) (¢
Sl glai po 4z 51 T(0) ) (Gl 3b alaly & azgi' b —#Y

\

n' (v e
Y
n (f n' ¢

Ailgi 0 aiy 35 plas iy jlolael 2955 Cad yi oalod S (Stack o )Lil) aiy oG 3)lg cui a1y # GY olael  —£F

Telegram: @uni_k

ZYTOYY (A
VPYOFY (¥

YYOFTY (Y
VOYPYY (F
fadcemd 5 )L lu oold 4o o o Canly jl ol o «O» g« —-£0

heap -heap ()

heap - 29999 (S C3 0 (V

£999° S92 350 - heap (¥

(2999 (§97w LS50 - (29990 (S9hm i) (F


https://t.me/uni_k

www.konkur.in

18 amiuo 760F (18 05) i gupolS pole

el plos (BST) (19993 (s92mimr )0 Sy & (3ue) wuls'm Lheap G Joos glp p3¥ (Sloj aipe 75
n' (v nlogn ()
Y (F n (¢
Clamwl Cawyd gy sloo,l3F sl olawi a2V
ol O() s b 5 o (gigs Comd S )0 s Sy (30 55 Ty (yloy (I
el O() cguie M b 6 ol 13T S5 50 paie S5 38,50y oo (o
ool B(10gN) (gie N b i yo 4T SO 0 paie S 38,5 luw b (g
Y (¥ Y QO
o (f V(¥
e ol (60920 D08 T 31 4d Sy (Gigns Comud Sy 59k w11 4l 1 45 (5 H9ba w30 UM Wyl Sy -FA
3ume S5 ((50,5T0w) gm0 e Y (yloj ol d]yT (gury Ails Blus] dod 3 JiS oS )T Als 2 Slucl dod

flaw! glan o az 3l o0 n' ol ol o

logn (Y nlogn (
n' (f n (¢
S dmlio wir a9 Sl o 5eS J0 Y 9 7 B F ¥ Y ) Alis (69, (QuicK Sort) &y (3lwis yo i oI -£4
(Ylog, ¥ =14,8) fo,l0
A (Y o ()
Yo (f Va

(DFS) Jsl o g vz 5951 b 5 3 (BFS) Jol gelanw (g9t o y951 b oigiolicsl ol (87 -V
woils Ll iy w195 00 o5 8) Tl p1aS i & ol i 4 S 3l 95 b g 25 SIS (555

(b) (S ! a5 L] i i
ayd(
ec © oo

dge(r
@ e dsacrf
Lz p2lod S 1218 Goly 51 E9p0 b g JUM g o, L SIS < 6, 1, (DFS) Jgl o sommimsr iz yo501 -V
Sl § Ll g S5 45 (9310 5579 ) o gl g0 42230 (2L L 5L
B(m) (v 0())
0 (s Ll 4>, (F B(n) (v

Lo<

ai—aj‘sa a5 5,10 0929 ) 91 (il 90 il po 1o sl .Cawl ouds osld Aperrcay b saen -VY
feaw! glawi o 4z 31 (Hashing) o jlwe o 3l oolasuwl b jeliio oyl (5l p 0¥ wgio oyloj . s
V(O

n (¢

n' (v

nlogn (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

1 axio 760F (18 05) i gupolS pole

flmsl iy 50 50 ouigad LRI Jb o e 039S ) 31 E950 b g 25 G155 (535 gy a6l (sl 21k -V
A Q)

Yo (Y

VY (Y

Byls pasd ol s g | Fotany (F

el plas 5 alinse (61 i )9S (32 @ty (Floj aipo - VF
G 3IS ol o g Jum g LG G155 16999
el ¥ byl S 51T alold a5 G 51 ool y olawi 1 9,5
nlogn ()
n' (v
n (v
m (¥

relax) °9—~’3‘¢° a5 5l o n-’%sf-“ 2085 (Jb oy jg o0 S 152l 105 B (69, 1yl s )oK -V
sl plus (300 (Slwyjgra b

/ \ / o

Y (Y

o (¥

\O/ \O plaS e (F

Ml—"ro A U‘ S ‘) (TSP) b;o)sb o..\.'»..ﬁ:gjé aliwo C-wl.t ) ! )‘éojg ‘;Wi) S0 J.ow d‘; ) G -Vs
S5 (59 9 75093 okimiig 39 Almd Gy SO oS (20 202 B b g 3 20 ¥ 50 1) G sla b 4o (59
Pl b o0 LS D 92 b i ias ) B s JU (359 g0 3 A U (3j9 g0 -pualioe B 1) ool
Flam! G yd oyl 35 L oyl 38
B sl b acgomo = A gla b acgazme logyl — il
b=Ya+boo -
«o» lagé (Y «aIh» Laas (N
P & g €l a5 (F 90, (¥
Sy 4 i (S5l Al plas )l WIX) 533 S o HIX o) p2 g Conl T ad; b jloadey e 0 ST VY
Sl ply 33 Eg0m0 9 090 £ S 51 4T g g0 T 31 (g yemmo 339 dmmwlono (sl (dynamiic) b, w51
Flam] (y Koyl (9 pidins
F(v)=w(v) VS b sl o
| F™) =w(v) + max F(x) VS pmé ) » sy
(&) 9 AAGTED ¢
| &4 =F(r)
(F(r)=w(r)
(o) J F(v)=w(v)+F(v ,%)
(‘.Wb =max F(x)
Spx «o» lags (Y «al» Jass ()
«O» & g« @ (F g0 4o (Y

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

W amio 760F (18 05) i gupolS pole

Sl plus (3 BI,S 0t 95 yleo (MIN cUL) Ao 5w sludo —VA

Q=0
/ \ WY (Y
@ f @ Y (r

NOT}O/ VE (F

Sl glalosr i i )35l (6115 35 Jilowo by aliwso olaS NP £ P o5 53 -V4
bn""‘b‘ 9 Apceerca, Cdo b dlacl g N orud Sue 168959 — Al
D a8 gailanils | (Koo e o yider P by Sisgbar [ {), ey} asgamo Syioms

iel iel

bn “"‘b‘ 94, ""‘3‘ MNMM‘SHN&M 3809)9= <

iel
@ slact slasi =|1|) .oty
«o» laas (Y «a)» Jass ()
€« & g € &5 (F g0 o (Y

Flaml Cawyd o)l 35 L oy135 olas’  —Ae
o) (o 8 o 59 (1l (ol js Ll Ll o' (Hiluno (Sns) (6 5 aonad Jiluwo — I
dwd ¥ (w5 ) 951 U (approximation

el )s-é’ls b (o 8 i a8l 1yl bl ¥ 5oL L (o 485 s 5951 syl (gladino 51—
«o» lagé (Y «aIh» Laas (N
P & g €l a5 (F 90, (Y
bl g1 plie wjlee Gl LS (58 -A)
r=b*ab*ab*ab® (b*ab*ab*ab*ab*ab*ab*)*
005 o0 515 L s Jol w=bY%a¥°(ab) " ma w)le o m gloas yladio plas (38,5 1,5 L
a lais ()
b lais (Y
bga(
bagaa(f
Sy 1) 0Flogil plio Wyle —AY
(o) e+ 1)) M +1) o) O
(@) + V) ) (e + ) (¥
(o))" (v
(c((e+))" o (o+1)") o1 (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

VA amio 760F (18 05) i gupolS pole

0000100 Jz,) L,={we{o,\}*/ Al AL Z93 o3I W 40 Jlgke sy 5l ol 2} owiS 5,8 —AY
n
S pkio 398 (4b3 99 31 Syplas L,,={o‘~ |n2°} g (o Ly jo 000 Jgcann Ly 4o
L, Las
Ly laas v
9o 2 (¥
Ly wy Ly wf
S g3y ysiin V={S, W, X, ¥, Z} sl yuito assazmols G=(V, D ,R,S) ,al)s -AF

1l (P9340 35 (il 9 Z={a,b ¢}

S - XY|W
X — aXble
Y >CYle
W - aWc|Z
Z—>bZle
%055 50 1B G el 5 50 Juolo stee ADTMET e yom sloare b o g 51 Syplas 558,515
b Lss ()
C laas (Y
C 25 b oo (¥
Cagba(f

ol Canwyol 5 Gbadi 35 51 Saplas —AD
ol Bt L e i3l alize IY 8009
gei ailyl 9,8 el air LNFA S oy o L olaie 05 50 sl 0 (¥
9 ol LU state G Jolis a5 o905 a3yl A 90 NFA G olg3 oo s A Jolis SL lase b3 sl (¥
(ol S e A) 030, L
s phate Wl it slaclj 51 oalinel slacgome 55 gloxa! (F
(S B3 —AF

L,= {w#x#wR/w ,XE {o s \}* ,|w| = |x|}

LY={x#y/x,ye{O,\}*,|x|=\‘|y|}
Slaxi Z wiilo 4y 2 (gl s Canldll B> Sy H#) Tl (pio I Jiume G98 (3l) 90 3 Splus
(oS o0 it [2] b1,z gy
L, Las ¢
Ly laas v

5o).m(‘€”
Ly sy Ly wor

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

14 o 760F (18 05) i gupolS pole

145 dg o0 aiSluw D ol & SIDFA ( 5,50 G o (wlal D‘v 3 D\ «sDFA 5,31 -AY

D‘ =< Q‘ ,Z,Ss,q:,,F‘ >

Dy =<, ,Z,Sr,qz,n N = DyxDy =<QyxQy ,2,6,<q§’,q‘;>,1¢>

ol 2j g% 4 F acgozmo
F={<qi,qj >|(a; € A qj £ Fy) Vv (q; eF\queFY)}
funl Gy iy 35 105 om0 o0 i LDy X Dy) b 501, Dyx Dy b
L(D,xDy)=0 b L(D)=L(D;)
L(DyxDy) =0 st L(D)) < L(Dy) (v
L(D,XDy) =@ ol L(D,) #L(Dy) 5l (¥
L(DyxDy) =0 . sst L(Dy) c L(D,) 31t
Wols Z g W g X) s g5 o W (o2 ool daad S5 1,7 9 W gl asad &G 1) X @ yguo0nyo W= XW'Z S|
WS (258 (bl G (o Ay ol (o0 (] Ly st olg> SO
P(L) = {x] cosl WEL wiilo glaxi ; asl asks x}
S(L)={x| ool WEL wiilo glassy ol axkib X}
P (L)={x/3y.|ly|>¥,xyeL}
Tl G j0 (g0lai 4o g ) O Hls aw )
ol oo 31 Jiwe P(L) oBST caisly oo 1 Jmno L ,51 (I
ol o 3 o S(L) oST ool oo 1 Jimno L )51 (0
ol pliie PY(L) o7 el pliso L 51 (2
so ()
V(Y
Y (¢
¥ o(f
So b Lol ogioo o0ls (LS A L alin (B 1 0 45 SO (S B) tldil 5 S e mlilo ML oS’ (053
((Cawlddl & >

sl Gy 315 3,150 3| S plS ety S yo8 ol (1l 3l L(M) 551
Jl) aaa bb aa bb aa bb aaa e L(M)
<) bbb aaaa bbbe L(M)
«o» Laas (Y «cab laas ()
€O & g« @ (F €O o o €l o (Y

Telegram: @uni_k

-AA

—Aq


https://t.me/uni_k

www.konkur.in

Yo amio 760F (18 05) i gupolS pole

3o 51 5 1) o pol S A
S—> AB
A—a
A —> BaB
B — bbA
f ! Cawyob 4y 35 plos’
s Jlgie D 0,3 goloss sl ol 5 Lawgs ool gy aiiry g ()
Lo lgie @ 4w gl ol )T Jawgd cadadgy all ) e (Y
s Jga bl syls ol )5 langs soiadys ais, gn (¥
b shls saliads sle @ olaws 4y J8las Wl 5 0 sadadgr as) o (F

Aodcgamo 4y Jlii 5 jlaio oo

Sl guizo JY ol plas” -4
NUCLIWER OF YO JUR VI PP L g IRV - P (W 11
A Zoo AL b Slac] olod
s o due b oS olacel pam iepl by
Awd Cado o Jgl dlael plod (o

i o ¢ oo Slael oA
i Jgl ¢ S0 S0 gt 1 p] by
«o» lagd (Y «alh lagsd ()
€O & g «all» &5 (F 50 & (Y
UL JU L
a=—-p—->(qQ—>r)
B=q—>(pvr)
ew‘W)écB 5(1 b),&)édﬂ;f‘s\:cu\.wbuO)‘;W)Ot&Mf‘JJw&‘QL\M2 ;‘
oA Jsp=>a (¥ B=a s =P ()
B;c?ocsoc;z{[i(\‘ B,z?ocugsoc:[i(\”
S 2y -AY

P s sn g0 59555 50 o

q: S0 Jo 1) b i plod o

I :551d 35 poil dude 50 o

Sl ) wylae gl oz i (2 it 4 35 plo

€ sl Aibld 35 pad dunder )0 9 (S5 o 1y Lopy yoi plod )51 lalid (oo o0 (3990 )5S )0 gi»
—(qQAT)—> —=p ()

QAT =D (¥

(=gA~=1)>=p (¥

r—>({p-—>q) (¢

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Y axio 760F 1Y+ 05) i gupols’ pole
(S oy —AF
J(X) : el S X

A(X) : cawl ylgun X
B(X,y): canly & gz x
S(X,¥) ol Y 51 g5 X
ol 325 @jle lp doz 5 (1 yikg 4 35 plos
€l 35598 JSoo ol Wlilgus plod 31 a5 8418 Slgws S5 o>
vx[1(x) >y (A(y) AB(y . x) AVZ(A(z) AB(z.y) > S8(y.2))) | O
Vx[J(x) ATy (A(Y) AB(Y.X) A VZ(A(2) AB(z,y) > S8(v.2))) | (F
Vx [J(X) A EIy(A(y) AB(X,y)AVZ(A(z) AB(y.z) > S(y, z)))] (¥
VX[J(X) - EIy(A(y) AB(y.x)AVzZ(A(z)AB(z,y) AS(y, z)))] (f
s (o Al gl <513 s 50,5 31 Syplas -40
((A>B)AB)—>B (
(A>B)—>(B—>C)—>(A—>0))
((A—>B)AA)—>B (v
(A—>B)—>((C>A)—>(C—>B)) ¢
=S oo 3 )3 1y (g yaan AL F (omdg0 S (Ml 3ol 9 A (ombg0 93 (Jgemmo Sled ol (1) oS (28 -7
S =<8y ,8y,Syp 5ee> -
, v adlis 90 .ol YX 2l f g < ataly A ( orub slucl dc goso ddwold ] jo a5
$' =< 8{, 8y, 8y 5>
0851 2 1y A(f(Xy) s Xyp) Jgo 8 Saplas 8" =< ¥, 5,8, ,08,...> 98 =<V, F,5,A,10,...> ol5,»
fuisS oo (satisfy)
«S'» lazs (Y «S» lass ()
«s'» a5 g «s» & (F 9o o (¥
35 (0 5 50 1y (6l b T (rbg0 S (ol 0lai g A (ord90 99 (Jgemo olad Jolds () oS (B8 -AY
Sodand S ) a2l )0 315 Jgo s 99 31 Saplas il =X abfg < alaly A Z aiols o 0 a8
a =3x,Vx, A(f(xy),Xy)
B=3x¢ A(f(xy),Xy)
«B» Lass (Y «oLy» Lass ()
«Praiguo» a(f 90, (Y
(ol olgis g0 93 Jgommo sloi A) Susiwsd (logically valid) yixo lilio ) &yle 95 51 Suplas —9A
Vx3dy A(x,y) > 3y A(y,Yy) (W
Ix3Jy A(x,y) >y A(Y,Y) (o
«o» lass (Y «cab Lass ()
«O» & g« & (F 90, (¥

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

VY amio 760F (14 05) i gupolS pole

bz 05l Jgax b (alg (b byl | piS (2 -4

A B AlB ?w‘w)aﬂﬂﬁ.jé)g.oga)"
T | T F _ ;
T I F T —~A=A|A (W
F|T| T AvB=((A]A)|(B|B)) (v
F | F T «o» laad (Y «a» lagd ()
«o» &g« & (F 90, (Y
i o Sl 0 1y (b Elicoiw! e )0 15 JY sl —Yes
PAR
L N (Y [P AR]
Q —E T/\E
OAR Al
(PAR)—> (QAR) 51
(P> Q)—>((PAR)> (QAR))
3,10 8929 JYaswl (! 5o pilad 31 olaill solasw! & yg0 Wi
Y ()
Y ¥
Y (Y
oo (F

Clawl Hlods plaS 0§ dcgoomo go 51 —)+)
\ e o]
.{;}nﬂ Alis ballis (p ) plod as gomo (A
(Cwl b g5 Slast dcgozo Q) .{a+b\/?|a,b € Q} ae gozxo (0
«o» lags (Y «a Jaas ()
P &5 g €l @ (F 90, (¥
99 31 Splas Ly A acgozmo @ ygmo cpf 50 .0l F 1N {0,1} wilo pilgh aon acgomo A oS (pj3 —)e¥
Tl (daemn) (lgin® 5 acgommo
[o51] o5t (cat
LS olucl acgormo gloacgooo ) plod acgoo (0
«o» lass (Y «aIh Laas (N
«o» &g« & (F 90, (Y
3390 placS a bl @5 Sy 1A —> P(A) J51.05b A Sils acgars P(A) 5 42500 Ky A oS 5,3 1eF
flaw! o
fX)C A xeA pglp (W
f(x)= {xe A|x¢ f(x)} a5 5,lai 0929 | XEA o (0
«o» lagé (Y «cab laas ()
P &5 g €l a5 (F 93 & (¥

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

VY axio 760F (18 05) i gupolS pole

At gnmoy 3 O ygmp 30 Ay 3 AIAS aml A pm (0,5 0le) (y0 e ally R 3 A={1,.0,10} s (53 —)0F

(A y silod alaly im [ ) Sl o (A, R =14 S3> i o dcgoze 0 B={¥,0,5}
S5 el LS g sl YL LS 6Ll B ()
SISV oS Jg el il oS &l B (Y
S e Sl oS g0yl oYL ol By
2,08 ol O w2 5 Vb oS o0 B (F
Flaw] oo (8)lg0) 0yg0 plas” —Ved
Pea o Bga g il JLasygl B g a 51 (I
sl JUgo s Sy U o} olST sty JLyo yof a0 5T (0
«o» lass (Y «cab laas ()
«o» & g« & (F 90, (Y
§ ! o glccuw! plaS () 18 o0 a0 )0 ) 42y WY gooo () o aho 4w [T 9q 9P —VeF
PAq
q—o>r
_p=r
(pAq)—>r
(prqg)—>r
p—or
B¥E
pAq
Sl (o JLad gl e j 0yg0 plas )oY
Y+ (&
0+Y (v
«o» laad (Y «ab laas ()
€« 4 g € a5 (F 90, (¥
145 (63943 Wbl 43 ot o po aSgae Sy (A4 <) oS (58 1A
a<b ascwabeA SSaeA pdlp(d
ol g (1 iS55 SyI5 A 45 Asgozoys o (1
el Sy 359 0,108 9 )90 p105' L (A, <) Wygoinl 5o

A

\

¥

(f

(Q, <) (o (N ) <) (&l
«o» Laas (Y «ah Laad ()
P &5 g €l a5 (F 90, (¥

FX)SF(Y) 05 a2is XCY S A j a8 cowl @b 4 FrP(A) = P(A) oS (py5 -144
T={XCA[F(X)S X} a5 53

fewm! T gac acgomo plus

F(NT) (w NT (<

«o» laas (¥ «alh Lags ()

o & g €l a5 (F 95 ;o (Y

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

VE amio 760F (18 05) i gupolS pole

feal iy Y0 L yge plas —Ne
RS (o vRe
«o» lagé (Y «aI» Laas (N
«o» &g« & (F 90 o (Y

(Ol ' (oo 9 dwcnS LS,

‘w

Y+ X
Tl plas (g ©ygocpl o .0l a, , 8y, 8y ,... Alid Wgo U f(x)—( )
+

—(Y +Y)
—YY (¥

Y4y r
YV (f
Yo

A o
3,18 51,8 05b ﬁL\S)é“ Hlado O ygoplye . A= ZYI(‘ ) S 2y WY
oY

i=o

[V, +)0

[22Y)

[F5 V)
[Y.¥)f

dmud (LSogS wly i cpludlgs o aS0yl0 ), Y, ..., 7 opls g A gB gC gD gE S5og5 b cais -1V
Syl S35 1 g 0lo S0g5 S GSTus a lgh o lyopls 10010 4 S8e5 Y @ g8 o haid Jg uns
SV i X 10T 0 3y 8 9 F 91 51D g sTigo o ¥ 5IB asTigo G 9 ¥ 9 Y HIA (Jg 0,5 00l
] G yd 439 35 plaS ol (plass! Sg5 ¥ & 398 Lul ol L) ulgr (o Sl ol A (lgi o0 45 WL

41

Xe[¥oo,500) (1

xe[\,Y"oo) ¥

Xe[$oo,q00) (v

X 2900 (f

o JolS a0 45 g JolS & y0 45 45 il o0 1000000 goluamo 57K 8F o grauo Slis! Blisi X i 59 —WF

ol plas’ x

449090 ()

Q4AA0 (Y

44A 00 (Y

4aAQ o (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YO axio 760F (18 05) i gupolS pole

I (Rl plgd oo 45 Wbl (Gilieo Gla gy AXAL ST.Conl (p9y00 5 A 9000 F Jold (5451 09,5 S0 -V10
A il o) 99 5US (55 g g w05 S LS (3 8 455 y9ba o Gy s Sy 40 (ks & jg0n |,
Sl plas
YE ()
YY (Y
A (¥
Vo (F

ool HLaSt o plas a5 S jlado a4y logi 1o 98 ALl Jgy 9 Slog 1o 98 ¥ ) beaSw oS (o8 -1V
GOLL b gy 9 WaSiw (nl U Ty Slogi 18 Gl ygo O olgi o0 45 Wil ciliko gbcdls slasi A ST
C ! o 4y 35 pluS 3,5 CSlo
A€(Yore, +0) ()
Ae[100,1840) (¥
Ae 1530, Yo\o) (v
Ae(1,q00) (f

o) Gleraiz 13 X Cupsa S ail 0)93 seile GLAL Jolis 5 (i jhd anio C oS (B3 IV
S sl geario dig 35 1S sl C o
ac[o,100) ()

I ae[\oo,\?o) 41
ac[\#o, voo) (v
ac[Yoo, o) (f

flawl gotmo plas (5 O le g0 51 -1IA
Sla—el el 5IB g A (glimo sacgommo p ) (slaF o0 0 lg08 .Cawl (P9 yh0 ploio 0 )90 zatro due Yo ()
il gl B glasl ggomo LA glash g gommo a5 (5 sbar 5,5 oy
Job 4 (J9yp dlion; S L8 Jgb 4 (gogme allio pj SO (i dae 1P 5| JSulboio olgds allds 2 (&)

.0)‘& IN
«o» Laas (Y «ah Laad ()
P &5 g €l a5 (F 90, (¥

Y,X wi)gégw {a,b,c} &Mél@é&%ﬁ}d‘r 6bwi)é.cgw¢\fw|‘$ﬁ‘;cw.~5uoﬁ -4
fnl Conyd (G 3590 30 15 ylee 93 SaplsS il piae S 50 Ldo Y 9 X glis (51 e 9 551 i yglne

0,18 Seidon 30 G (&) Byl Jol5 golki G (&)
«o» Laas (Y «eal Lass
P & g« a5 (F 90, (Y

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

V5 amio 760F (18 05) i gupolS pole

flawl o « ) 0,155 90 1 Soplas” —1Ye
Byl ol Balld SO 2STas s o o (W)
&5 G Oygocplys ool N+Y Plas o] iy 12 a5 40 a5 Col cwly TR ool G154 G oS (2,8 (0)

Byl Jols
«o» lagé (Y «aIh» Laas (N
P & g €l a5 (F 90 o (Y

S Sy g o0 B yb Wiz 4 (0,00 45 A8 (! i) el oud Bl abgF WS Sy Yo xNo Sy Sy 3 -1V
Fo,18 51,8 oyl yo A3l yebas 1y XY
4 (
Y& (Y
va (v
AR (Y
(bl (b o Wb b o) 10,10 Olgar Wi ) dlolee 1YY
Xy + Xy +...+ X, =Yoo
Vi x;2i, x;eN

Xy, #Yo
VOO \YY
— QO
q A
ARAIA VYO
_ (Y
q A
VOf VY'Y
— (v
q A
VOY YO
— (\C
) A

4S Gogbd sz ) e o) pleie Oy TP (nf Blgi o0 @2k wi 4 Sl By TP 6110 (eSS (315 -IYY
TAblS Z B> (B2 (1 5 Sl y Cov o LS 8 O 32 (B p2 (0 oy Coow o0
Yel-vyx yal-ve! ()
YEI-YX YO YE! (Y
YEI- V! (¥
plaSzs (F
181 (o 32 (39) A goomo Ciad 43 1y V5 ¥y eeny V0 Slusl olgi o 45 Cowl (o CIl> Slaxi M S (5,5 —IYF
S| Zusro dM 3 yg0 jo aiy 35 plus 0,5
mzz#yYy (A
o<m<\Yo (Y
Wi<m<voo (¥

YoySm<syo (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YW axio 760F (18 05) i gupolS pole

A S (o0 €y |y g5 0,135 g3yl a8 f:{x‘,...,xa}—> {awjob cawyo) 2oyl &lsi dlaxi —1YO

(Xj (030,135 (Al (S ~ X)) Tuml
Xy V(= Xp) VX)) A X V(= Xp) V(= X)) A (X V (=~ Xy )V (~ Xy))
Y ()

¥'oy
o' (v
Yo (f
B 45 GIA 93 gt 45 (535 0,5 Ky iy 9 2 0,5 S Y b1y 5 slbails (lgion G sk wiz 4 SIS
fibls STy «iylo Hgloxe

YA xr

vixaq (v

voxy (y

Y x4 (f
Bl sz a4 Conl ¥ s 2 423 e (U5 0013 99 51 U 2 595 o, YO) 0,18 (ol Bo 5 SIS 1YY

Sl ot Ll (5 9lmo ol 93 b 45 5 y9bas 8,5 Ll 1) B S cnl 51 ol ) YY lg5 o0

$00 ()

VYoo (Y

Yoo (¥

\Yoo (F

srloio pbs jlz (b Slas! I ggic K dsgommo j2 )0 45 5 9ba muiS oo oy (b S (1SS [ K -1YA
Il Wiz K abl A O paoe 9V o pdo o pas bz (] 5l gis 99y JOLET 45 bl asbls 9929
¥ ()
YFO (Y
Yo (Y
YOY (f
(350 0 50 (1390 E9) g0 )0 e 1) Apge 9 Aygo WD 895) Tl 29 Ayoo (Il Ayo WDz jl dboz Wiz -1V

¥¥ Q)
YF (¥
22\
FY (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YA axio 760F (144 05) i gupels pole

2L Lilgy @0 A ‘55..&:/\u,mﬁ,‘..x.;g)oAﬁLo.xog.a:\").a.A={\,T,...,\00} daS s VY

faigud o0
T
R
(Ajav!
v )ay!

v!

—— {F
qy!

L

Telegram: @uni_k


https://t.me/uni_k

	1209_Page_01
	1209_Page_02
	1209_Page_03
	1209_Page_04
	1209_Page_05
	1209_Page_06
	1209_Page_07
	1209_Page_08
	1209_Page_09
	1209_Page_10
	1209_Page_11
	1209_Page_12
	1209_Page_13
	1209_Page_14
	1209_Page_15
	1209_Page_16
	1209_Page_17
	1209_Page_18
	1209_Page_19
	1209_Page_20
	1209_Page_21
	1209_Page_22
	1209_Page_23
	1209_Page_24
	1209_Page_25
	1209_Page_26
	1209_Page_27
	1209_Page_28

